Solving Quadratics by
Completing the Square

é\

- REVISE THIS
TOPIC

1 By completing the square, solve the equation x2—4x+1=0
Give your answers in the form a =+/3 , where a is an integer.
You must show all your working.

(x-2)-23 =0

(e-2)-=3
SOL I 4 KY
x= Lt

x= 243 x=2-{3

(Total for Question 1 is 4 marks)

2 By completing the square, solve the equation x2—10x +19=0 @

Give your answers in the form a /6 , where a is an integer.
You must show all your working.

x=5+{e  x=5-1Gg

(Total for Question 2 is 4 marks)

u . r@ @1stclassmaths

www. 1stclassmaths.com © 1stclassmaths



http://www.1stclassmaths.com/

° . r@ @1stclassmaths

3 By completing the square, solve the equation x?+6x—1=0
Give your answers in the form a =+/10 , where a is an integer.
You must show all your working.

(x+3)*-10= 0
(x +3) =10
x+ 3 = [0
x =-3=0\0

(Total for Question 3 is 4 marks)

4 By completing the square, solve the equation x?—2x—-4=0
Give your answers in the form a =+/5 , where a is an integer.
You must show all your working.

(x-\)-S=0
(3-1)=S
OC- ) =i6
o= | £1S
X= 1483 x:\-{8

(Total for Question 4 is 4 marks)

5 By completing the square, solve the equation x2+20x +93 =0
Give your answers in the form a ++/7 , where a is an integer.
You must show all your working.

(x+10)*-F =0
()L‘\'IOY:'?-
x+10 = I
x = -10 £1F
X = ~\O+ﬁ x= -0 -{F

(Total for Question 5 is 4 marks)
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6 By completing the square, solve the equation x?>—4x—-4=0
Give your answers in the form a £ bv/2 , where a and b are integers.
You must show all your working.

(x-2)*-%=0
Z-ac-z\1=8 (8=0k x 11

-2 = (¢ = 21
1= 240¢

Xe 2+ 200 1=2=072

(Total for Question 6 is 4 marks)

7 By completing the square, solve the equation x?—10x—-50=0
Give your answers in the form a < bv/3 , where a and b are integers.
You must show all your working.

(=8 3570 E S
L-G) = _
xX-5=2{3s $ o

X=St5

x>5+4513 1-6-5{2

(Total for Question 7 is 4 marks)

8 By completing the square, solve the equation x2—16x -26=0 @

Give your answers in the form a + bv/10 , where a and b are integers.
You must show all your working.

(x-8)"-90=0
(x-89*-90 (40=[7 xllo
x-8 = *{%0 = 2o
x=gt{10

2=%+ 30 x=8-3l0

(Total for Question 8 is 4 marks)
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9 By completing the square, solve the equation X2+ 15x +21 =3x -9
Give your answers in the form a =+/6 , where a is an integer.
You must show all your working.

X412 +30=0 x=-6 £[6
(x+6)°-6= 0
Gerb)'= 6

A+b =

1=-6+l6 x= -6-16

(Total for Question 9 is 5 marks)

10 By completing the square, solve the equation x2—6x +4 =5 —2x
Give your answers in the form a =+/5 , where a is an integer.
You must show all your working.

1*-4x-|=0 1=2:{5S
(x-0)*-5=0
-2)=5
-2 = S
X =2+ E X=1— E
(Total for Question 10 is 5 marks)
11 By completing the square, solve the equation x2+3x+7 =9x + 6 @

Give your answers in the form a + bv2 , where a and b are integers.
You must show all your working.

1,1‘61. +]1= 0 2+
(x-2)-8=0 J"- J"——r
(oc- 2} =% ) o,
1]

xX-3

)(
r

\

Xz 14 lﬁ. Y = 1«1&

(Total for Question 11 is 5 marks)
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